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M1: a) b) c) d)
4 92 6 84 3 93 5 80
M2: a) b) c) d)
4 76 7 98 6 90 5 95
M3: a) b) c) d)
5 820 4 852 3 618 8 184
M4: a) b) c) d)
6 852 9 954 8 952 Vs 721
SHOULD
0 Sl:a) 96+ 8 b) 99 +9 c) 91=+7
S2:a) 954 +3 b) 536+ 8 c) 852 +4
S3:a) 952 +7 b) 96 + 8 c) 763 +7
v S4:a) 8420+ 5 b) 6336 < 6 c) 9984 =+ 8

206 119 103
23 12 164 15
11 19 243

19 109 13

213 14

1684 1248 136
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C1l: a) b)

5 ‘ 81755 4 ‘ 92268
C2: a) b)

7 ‘ 83020 9 ‘ 97254

. a) b)

6‘ 211224 8‘ 504032

. a) b)

8‘ 74540088 6‘ 3813522

FINISHED?

Have a go at the following extension questions:

276 + 12 416 + 13
612 + 18 714 + 17
924 + 33 957 + 33
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c)

3‘ 89619
c)

8‘ 96448
c)

7‘ 483238
c)

9‘ 5694345
420 + 12
728 + 28

448 + 32
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